HE Kk R

2 ERA A 5% 2 BEIAE

HE . Lxmgi(=)

CREA3 150 433 % BT [E] 120 434)

BB - \ 4" = SO
S
/o | BN | — B AKRE 17 /NS E/NES 4,285 4. TEB/NE S

AN I R, R — TR AT & B 2RI

L.E£#4M={ala#la€R U{B|b#*¥—1,ER},N=(—o,—1D U (-1, U Q,

o), MM 5N HXER ( )
A.M=N BM2N
CMNON=¢ DM &N
2. FOIARERTS + <1 FEHNE ( )
A.x—f—%<1+xi B.z(x + 1)< (z +1)°
1 1
C( > D.J/x <1
3.@ﬁy=3—51—%x71<1 > 0) HRA(E R C
A. 3 B. 2
C.1 D.0
X 555 0 \ x° +x .
4. R fF(x) BYE X R 0,17, 0 £(g ) HE iR ( )
A.(—oo, — 1) U (0, +20) B.[—5,—2) U (1.,4]
C.(—co,00 U (0, +2) D. UL E#&RA T

— 135 —




5. R y =log, (2x —x%) BYHPEIE X (6] K
A. (1, +o0)
C. (0,1

6.EMy=f(2) REXNER LHAFE ., >

L= W)
Ay=x(xz—2)

Cy=lz | (x—2)

7. /sec?20° — 2tan20° HI{E K
A. c0s20° — sin20°

C.cot20°—1

( )
B. (—oo,1)
D. (1,2)
Off. f(x)=z’—2x ,MER L f(x) B
( )
B.y=x(]x |—2)
Dy=lz|(z[=2)
( )
B. 1+ tan20°
D.1— tan20°

8.l y=2" WEZRTBHE « BREHEBEIRXE y=(G+D*+2.82a FF( )

A. (—'192) B. (17_2)
C. (1,2) D.(—1,—2)
9. BB {(—2n" + 297 + 3} PR KT L ( )
A. 107 B. 108
1
C. 108@ D. 109
. 5 - W8 ’
10. BR ¥ y = sinx cosx ++/3 cos’z — > Y B /N IE B B R ( )
A w B.2n
T T
C'Z D‘?

1.7 AN ANHER—HE, KPR E = ANHE—& HAR 4 AHE—& B AR FHREF Y ( )

A. 720 B. 2880
C. 144 D. 288
12. 5HE& 5x +3y =0 EHMELE ( )
x Y _ = —
A. 5 5 0 B. 3 +y=1
[ S _ X Y
10 6 . B 6 +1o 1
13. W4k 0% 2% —a’y? =a’b’(a > 0,6 > 0) WESIEINHELNEE N D)

— 136 —



A.a B.b

C.b+a® +b* D.a «a® +b*
14, — S FM 5 & 8 K, BR PR R 0. 7, BAKRHFHI 5 W BE R (

A.% BAGSENY X 0. 3°
C.C; X0.7°X0.3° D.0.7° X 0. 3
15 M y =0 bR, WHIRHER (
A —1 B.1
C. —2 D. 2

2 2
16. Wﬁ@%*% =1 WELSEF, F,. 5 P #EWE F,PF.F, AR =AFHEKE (

A. 64443 B. 15
C.18 D.6 — 443
17 By =27y = () WERZAMNXFR (
A, KT x HXFR B. XTF y WixtFx
C. X T8 SR D. XFTHZL y =z X

"oy | WBA | ZUREE AKEI 4 NEB/NE 45y, 3E 16 4. IBEREFEE
B& L.

18. % ANABC WA A3, —2),B(5,2),C(—1, —4),l ANABC BT H

19. E%ﬂ | a |:59b=(39ﬁ)9a —L_jb E"j%ﬁ%’ 1200,51‘](1 i b:

3 kX
20,y =2x%+3z°, Wy =
21.'&1‘1 :471'2 :4’1'3 :5714 :691'5 IG,MF‘F—ZKﬁﬁﬂQ

— 137 —



75 | IFEBA
ZREE AREI 4 B3 49 S RENE IR EHE LR

22. A/NEW 4 12 43
ﬁﬁﬁﬂ{a —éIﬁj‘jlv/Aﬁj‘j H@#%ﬁﬁﬂ S —a1+a2+ ct+a, 911[]%5%&7"9”

§1% a, 15.S, WEEHI,1ga, 1g9.1gS, R ZEZEI 5K m .n BI{H.

— 138 —



23. A /NEWE 4 12 4y
¥ ANABC #,8%1 AB=2,BC =1,CA =43, % D.E.F 4 5|# AB.BC.CA # t,

ADEF HIE=f.,ic LFEC Ha,il# sina :Zf

.3k ADEF 1.

— 139 —



24, /NGB 4> 12 41
KE—EEEEEF N ETCE, RECEAFN 1500m’, B 54 FE R T4 fm A&
#r R U BEEER) 3 A5 R EERMAK S, &M &K.

=— 180 +



25. A /NRWE 4 13 53
EMERE - M EWBER 1,7 y M EWBERN 1LWOK y =2" +bx +c TR
FRA (2, — 8). SRE LMY L P38 s B A AR B F 5 7.

— 141 —



Ber (et 2RRNKE (2) 3EHER

2. &4 g9pC 4.B 5.D 6.B 7.D 8. A 9.B
— 190 —



4

10. A 11.D 12.C 13.B 14.B 15.D 16.C 17.B

18.6  19. —10  20.3+x +4x 21.%

a, +S,=30
22.f@ .- HEHE
a,S, =381
L |am =3 a, =27
2 El
S,=27 \S,=3(&)
“Ya,=a,+0m—1d
S. —an +n(n;1)d

E}E]l—’——(m—l)—S%fm—S

%n(n—l)
n—l—f=2715n=9

23. f# Wik E NABC hEfS=fA.H AC=90",/A=30",/B=60", 1A,

W iE ADEF 1K % L, B F sina =¥

V21
M| cosa =+/1— sin’a = 1—% —

M8 EC =lcosa 2@1

i ADEF %= F
ff A /DEF =60° B 2 d ¢

& ADBE i, mmazmﬁmf—— _SE

nB  sina

sina 4

{ =—-[
sinB /21

i BE +EC =BC =1
@2l 4

7 «/21

BrLl BE =

=1

Mﬁ’ﬁﬁ%z:%

— 191 —



24. BB WRMKN 2 m, K ym SEEEE M » JT /m® N
BEM S=4zy n+3n -z’

1500
S xty =1500,y = .
x

1500 6000
oS =dnx . = +3n12=—n+312n
o
6000 .
48 =22 4 6nx =0 BME—FE A 2 =10
x

Sy=15

B x =102 S MME—H/ME S,

Sox =102 S WEH/MER,

&L RBK R 10m, &k 15m B, & M K.

25. #& - EHE%’%??%%H’J%EEEEC_LI + % — 1, REHLE BN

y=x +1.
EFIHLB TR R 2, —8)
WMERMTED y=((x —2)°"—8
Bl y =x®—4x —4
y=x +1
i 7 R 4 B2’ —52—5=0
y =x%—4x —4
WHASMHEMAN L AL 2, Al 2,
Mz, +x,=5,2x,2,=—5
FR 24z =(, +x,)" — 22,2,
=25+10=35 ,
BIVE £ 45 4 4 TR A 38 s AR A 1 S DT AN 35,

— 192 —



